Soluzione

public class CounterDec {

private Counter c;

public CounterDec() { ¢ = new Counter(); }
public void reset() { c.reset(); }

public void inc () { c.inc(); }

public int getValue() { return c.getValue(); }

public void dec() {
int v = c.getValue() ;
c.reset () ;

for (int 1i=0; i<v-1; i++) c.inc();



Soluzione

public class Esempio {
public static void main(Stringl[] args) {

CounterDec cd;
cd = new CounterDec(); //inizializza a 1
cd.reset () ;
cd.inc(); cd.inc() ;
System.out.println(cd.getValue()) ;
cd.dec() ;

System.out.println(cd.getValue()) ;
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